EtTH HEIE
TEE

6,370
1,456 364, 910 T 650 T 2,990
gy
06009
H=2000
g a2
—€Yh =BG 28 S
- DN | 8. 75ni E
g ;
- L BLE2RE
e E = i
[ GFz=stn b5t | 0
= ﬁo%ﬁ?s” o _SELEL
A w0 kT b 2
uo;_ Zin—+t JiH g E L ]
w| < —— —t
I : — o0 z
2 #T~Y . H=2000
o szoo%/ ‘ -
: HEEE (7. 750) ‘ 8
T | :
// gl 8/ M g000 e LDKzg-qé):fM) T 00
! o / / H=200 Lo - (32 H=2000
\L‘uw T ] =TS —
| . npe Sl
O I | 4‘ - g B | i he2000 =
8 X Blig25n M
- & - —~ e b BIE24%7A °
H=2000 = Hi’gg%gm ’ Hzggéﬂ sSLa=— <
—— AL =N = (B9h 9Y)
16520 &
H=2000 6o 4 g %
2,730 | 3,640
2,730 I 3,640 6.370
6,370
2
mE ni ()
1B 55. 48 (16. 78)
2B 49.68 | (15.02)
| FEPRE TR 105. 16 | (31.80)
o | EEER 5796 | (17.53)
6.310 Buthmig 221. 31 (68. 76)

1 FEFmER 2 FE S
03

scale: 1 / 100 ic] 7 ) i




IV TFORT—UREBTHEELTH HEIE

dbarmE sy 1] B4

. scale: 1 / 100 ic] 4] Eﬁl’éﬁ




IV TFORT—UREBTHEELTH HEIE

IN—R




